
Minari F1-M9 180/200 Torque Table

by Frank Hoffmann

1/14/2017

Illustrated Parts 

Breakdown Ident 

Number (Page 2)

Fastener Description Specifications Fastening Tool Threadlocker

12 Cylinder Head Nuts M8 13mm Socket -None- 20 177

13 Spark Plug
NGK BR8ES (cold conditions)    

NGK BR9ES (hot conditions)

13/16" Spark Plug 

Socket

Red on Terminal threads                

-None on main threads-
20 177

18 Exhaust Manifold Nuts M8 13mm Socket Blue 20 177

26 Re-Drive Clamping Screw M8 x 40mm 6mm Hex Bit Blue 20 177

  27* Drive Bolts M6 x 25mm 5 mm Hex Bit Blue 10 89

31 Secondary Drive Pulley Locking Bolt M8 x 16mm 6mm Hex Bit -None- 20 177

  33* Primary Drive Nut M12 19mm Socket -None- 40
354           

= 30 ft-lb

36 Propeller Bolts M8 x 50mm 5mm Hex Bit Blue 10 88

40 Motor Mount Nuts M8 13mm Socket Blue 20 177

Inserted into 41 Miniplane Motor Mount Locking Bolts M8 x 10mm 5mm Hex Bit Blue 8 71

42 Crankcase Bolts M6 x 50mm 5mm Hex Bit Blue 10 89

44 Ignition Coil Bolts M5 x 20mm 4mm Hex Bit Blue 4 35

46 Flywheel Nut M12 17mm Socket -None- 40
354           

= 30 ft-lb

48 Starter Bell Bolts M6 x 18mm 5mm Hex Bit Blue 10 89

50 Flywheel Cover Bolts M5 x 12mm 3mm Hex Bit Blue

53 Manual Starter Bolts M8 x 20mm 5mm Hex Bit Blue 8 71

61 Reed Valve Bolts M6 x 30mm 5mm Hex Bit Blue 8 71

65 Airbox Flange and Carburetor Bolts M6 x 55mm 5mm Hex Bit Blue 3 25

71 Airbox Locking Bolts M5 x 12mm 3mm Hex Bit -None-

78 Exhaust Clamp Bolts M8 x 20mm 13mm Socket Blue 15 132

79 Muffler Mount Nuts M8 13mm Socket Blue 15 132

81 Exhaust Mount Locking Bolts M8 x 30mm 6mm Hex Bit Blue 20 177

* Does not exist on clutched system

Torque Value            

Nm       /     inch-lb

Snug

Snug



54

A termine di legge ci riserviamo la proprietà del presente disegno col divieto a chiunque di riprodurlo o renderlo noto a terzi senza l'autorizzazione di PARMAKIT. Inoltre la Ditta si riserva di apportare modifiche alla propria produzione senza preavviso ed in qualsiasi momento.

MOD:

36

25

3

80 81

77

8

6 (Q=2)

2

4

5

7

16

17

13

14

11

9

B

10

19

21

22

26

24

28

32
34

35

37

21

41

39

79

43

45
46

47

31

At the end of the law, we reserve the ownership of this drawing with forbidden to reproduce or disclosed to third parties without the permission of PARMAKIT. In addition, the Company reserves the right to make changes to its products without notice at any time.

71

48
49

50

51

30

53

52

56

33

57

58

59

60
61

62

63

64

12

18

66

67

68

69

70

20

40

76

75

42
20

55

72

74

73

38

A

C

D

83

65

E

44

F

27

-F1-M9  Motore a 90°, avviamento manuale / 90° engine, manual starter

55

78

29

82

G

frank.hoffmann
Oval

frank.hoffmann
Oval

frank.hoffmann
Oval

frank.hoffmann
Oval

frank.hoffmann
Oval

frank.hoffmann
Oval

frank.hoffmann
Oval

frank.hoffmann
Oval

frank.hoffmann
Oval

frank.hoffmann
Oval

frank.hoffmann
Oval

frank.hoffmann
Oval

frank.hoffmann
Oval

frank.hoffmann
Oval

frank.hoffmann
Oval

frank.hoffmann
Oval

frank.hoffmann
Oval

frank.hoffmann
Oval

frank.hoffmann
Oval

frank.hoffmann
Oval

frank.hoffmann
Oval

frank.hoffmann
Oval

frank.hoffmann
Text Box
Illustrated Parts Breakdown




